F—E SR




PR KRBREEN




IR T R aS3NER2E. TYFRRL

1.

A. 2a-3 B. 2a+3 C. 2(a-3) D. 2(a+3)

2. (2023 - mA) NI EIEHREIZ ( D)
A. 3x2+2x%=6x* B. (-2x?)>=-6x°

C. x3x2=x5 D. -6x%y3+2x%y*=-3y

3. (2023 - FM)HE:a(b+3)=_ab+3a .
4. (2023 -BAfDHE N 7 #2:0*-a=__a(a+1)(a-1) .




5. (2022-Eh i) Fe b 8], B SR 1B : (x +4) (x-4) +(x-3 )2, E Frxii B x2-3x+1=0.

J& T =x2-16+x2-6x+9=2x2-6x-7. " x2-3x+1=0,." x2-3x=-1..% 2x2-6x=2(x*-

3x)=-2... BRX=2-7=29




1. R BIBE

H_ZEHA

— M —

2. BRHEXES

(1) I\

ST
MR MBI RR SR

IRt B BB — AN s — AN R B e

2 BHERRHAFE
2R EEK

FEFR ARV T F AU . B

0 (A RHYAR T AU R I B BT eh

HY__F

1173\

B FE

2]

HY_ 35 abF0 AU E



2) ZInC: /LRI F1 M. Eh e _samst M In
YT, A& R RITRAY f4_ge3am X B = BT AR B0y 40X AN 2 T
BO_ ol

(3) BN Z A G RR__ E

4) REFCAFENEFEEHEAYERBEREAPNFEE BRSNS RM
MAEA_ (&

(5) EIXTUFr & F&HE F B HEEF R __ g% B[RV A 5] 2
7.




3.EAHNER

(1) BRI SE RS FHE2KIm

(2) #pskZ B Hh: R I\ T BTN | B IR RS T
v BIEESHIA

- B

3) RIS B2InNHK B ENNEY.. HEFHHNEDH=AFH X
TRE—TETRESENFENEREMEBESREATRI___ FhEe
5 %Iz E 3k, 5t A R I T3k 25 Iz /Y JHBRE S RE—II
SIS Z IR St — 1 2R B 8 — I3k 57—~ % 1z HY
SRR ISHYER




(4)
=4
(B!
12:3',‘-
=8
/z*i)”JJ (m
T
iy
ZH):

@®
am .
a''=
am+n

am-n
(a#0)




4. FSENT
(1) FRELN:(a+b)(a-b)=
2) TEFEF AN :(ath)?=




5. B 5 R
(1) EXAB—1NZIMNERRJLNEINR 0 I, M Z I R (X
W

(2) AR FE:
O B AEIKE:ma+mb+me= m(atb+c)
@ NRiE:a?-b?=_ (atb)a-b)  ;a*t2ab+b =___ (ath)?

XIERbE IR EN AR 2S8R THEINER—E2FRIER.
HINER A ENE, BIEAEFENHITER, S W B b-a=-(a-b),(a-
bY=(b-a)>




ER— JIHRHRN
1 2022 KN FERINFWER . ZAMIEAR I 1002 34 (5715, B H
MIZRBEMN 79 10TT/2, S INEARRY E 1 J98 T/ 15 W SE B A2 7K x 78, 1)

ML ZFiEARBERR A ( C)
A. 8xTT B. 10(100-x)7T

C. 8(100-x) 7T

D. (100-8x)7T



(2023-#u M A ARIRE R R E R A R /KN EFREN T - AR K
SEMNBE7ILF RIS, FILFARWERTT;BERIE7 T AL H K
(a+1.2)TT. izt FEARER ENBMBKE 2032 75K N NEKkE ( p)
A.20aJT B. (20a+24)7T

C.(17a+3.6)JT D. (20a+3.6)7T



[ERERIIZ]
1. —MNME B B Axy K A R TR B R A T
e GFEIELNKELA ( B)

A. x+2y+3z B. 2x+4y+6z
C. 4x+4y+8z D. 6x+8y+6z




2. KEmBIRAN AaTt S E M LR AR IE N T 14%. WA EFRE, 1%
EME/\ITHE B =mBIEPREN 5 ( B)
A. (1+14%)(1+0.8)aJT

B. 0.8(1+14%)a7t

C. (1+14%)(1-0.8)aJT

D. (1+14%+0.8)aJT




PLERFCCAASOE R TS, ATRERREN —LAE. METHRIAREL, FU:
https://d.book118.com/356113204033010204



https://d.book118.com/356113204033010204

